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KFUPM - Department of Mathematics & Statistics
MATH202 - Term 181
Quiz 1A (Duration: 25 Minutes)

Name: Solution D #: Section: 03

Q1 (3.5 Points) Verify that the function y = 1/(4 —x?) is an explicit solution of the DE
y' = 2xy?.  Give at least one interval ] of definition of the solution.
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Q2 (2.5 Points) Determine a region of the xy-plane for which the DE (1 — y?)y’ = x? would have
a unique solution whose graph passes through a point (%9, Vo) in the region.

-
f “.\.
!

h

.\

%
K |
L’)/: Z /(;\2 PDe wauiaﬁ Mgnve &
=9 2 o que Solukren Whete i i
5 g:“ 7 i X
& *"f e X4/ = “;:"‘;%‘ Prsse S 'ﬂw oug L ( Xo, Y0 )
:\{ &quﬁ;" &L'l/\j Vfélém' “”" f?z :
= _‘;,...Q »: H,__,.._:,-‘...._,._‘,...M:m\m.inj N “v ._; )“.‘mﬁ -, /( ﬂ {‘pf‘
2y (1-37)" | ok Aoec volt (O
: f 1. =y YRR
[{_:J j!-lh & 'ﬁl:. ! e -]L - i | \Ae N ‘i' — '
et fefued at Y: i
Q3 (4 Points) Find an explicit solution of the Initial Value Problem  x%y' =y —xy, y(-1) = —1.
Determine the largest interval I of definition of the solution.
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